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Part 1: English

1. Write your full name.

2. Write the letters of the English alphabet in order.

3. Answer the questions with complete sentences.
If today is Monday, what day was yesterday and what day will tomorrow be?

If this month is October, what was last month and what will next month be?

4. Read the passage and answer the questions with complete sentences.

Faisal is going to the market on Thursday.

He wants to meet the tailor in the market.

He needs to have some new clothes made.

The tailor can make good clothes.

The tailor says he will make the clothes tomorrow.

The tailor uses a sewing machine, fabric and thread to make clothes.

Who can make good clothes for Faisal?

What is used to make clothes?

What does the tailor say he will do tomorrow?

Who is going to the tailor and on which day?




Part 2: Numeracy

5. Solve the problems.

667 975 373 985 502

+ 855 +457 + 728 - 396 -416
12 22 600 96
X/ x15 £25 +4

Habiba made 150 new pencils. Her son used 16 pencils at school. How
many pencils does Habiba have now?

pencils.

Part 3: Burmese
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To be completed by the teacher/administrator:

Name:
Age: Gender (Male/Female/Other):
Completed: Grade in (Year)
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